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Abstract. The object of consideration is a sequence of multivariant statistical experiments with
persistent nonlinear regression, given by a matrix of directing action of frequencies of certain at-
tributes. Conditions for convergence of multivariant statistical experiments to the equilibrium state
are investigated, and stochastic approximation is constructed as an autoregression process with normal
perturbations in discrete time.

�������
�	 A83&'6)+, -.+/60.%')6/*1.+)* 23/*)$%'4$'1)1B5 +)')$+)$&6+7$5 C7+-64$261).%

+ 1'+).<&$%.< 16/$16<1.< 46:46++$6<� 7.).4', 8'0'6)+, 2')4$=6< 1'-4'%/,;D6:. 06<+)%$, &'9

+).) .-4606/611B5 -4$81'7.%� A83&';)+, 3+/.%$, +5.0$2.+)$ 23/*)$%'4$'1)1B5 +)')$+)$&6+7$5

C7+-64$261).% 7 4'%1.%6+1.23 +.+).,1$;� ' )'7@6 +)4.$)+, +).5'+)$&6+7', '--4.7+$2'=$, -4.9

=6++.2 '%).46:46++$$ + 1.42'/*1B2$ %.823D61$,2$ % 0$+46)1.2 %46261$�

�� �����

� �������	
� ����
�� ��� �� ���������
��� ����������� �	�
�������� ���� �
	����������� ������
 � ��� ���� ���
��	�
�� ���	�!��

"�	��	� ������#�� ������	$
� � ��� ��� ������ � 
�#$� %�� �
��#�
� ���
�
	��
����!�	���$ ����!��#�&
� ���� ����
�		
 !
��!��

 ����
���'�	�� ���
�	�� �� �

�
����
�(	�� !�#��	�	
��� %� ���� 
��� #��
�	���)�
�	�&�#��

"�	��	�* ���$��
�
 � ����
�� ��� �� ������ � ����!��#�&
+ ���
�	�� �� � �
)
	
*	�� �
 	��
	
*	��� ������
 � ���!��
	�# ���&���# ��,$�
+ �$ 
��#
	����
+ #�)
	����,
+ �-�� � 	��#���	� ������
��	�� ���$�
���!��� �
����
�(	�� !�#��	�	
���
"�
�		� #�'� �$
� 
	
�����
���	� �! 	��#���	� ������
��	� ���
��	� ��#��!�
����
���'�	� ������ 	����� �.��� /�� &��#$ ������ 
��� ����� ����� %� � ���&��
 ����)
!��#�&
+ ���� ����
�		
 �����$ ����
���'�	�� 	��
	
*	� ������
� #�'� �$
� ��#
	�	�
���*	�
	�� �
	
*	�� ������
 ��

/�����	� ��	�!� ������#� ���(�		� �� � 	����������� ������
 � ��� 	���	�)
�

 �!
	(�		��� (���� ��
��0� �� �
�	�� ��	�!� 1��(�		� �� ��0� � ���#� ��	�!�#�
�����
��� �� �	��
�$ ��	�#
�	�+ ��	�#
!�� /�� �	��
�
 #$��
����
�	
	�� �� �$

 )
�� �
 ���	&����� � $�!���	� 
��� +� ����
���#
�	� ��	�#
!�� 2��
�
	�� ����	$
�
$���$ 	� ���	�(�		� ��!
��� �!�
�
��
$#$ ρ ���#� ���

1 ��
�
�(	�#$ �
��$#!$ #� ��!����
��$ #� 
��+ ���$���� #�����* ���$��&
*	�+
��	�
�!� 3�*
�)4
0��� ������ 	����!���� �5���

���� ����������	 
��
��� ���		��������� E�
���� F�G��� F�H��� F�
���

������� ����� � ������ I3/*)$%'4
'1)1
 +)')$+)$&1
 67+-64$261)$� J317=
, 46:46+
>� 67%
/
?4
9

32� +).5'+)$&1' '-4.7+$2'=
,�

��



�� �� �� ����	
�

� ����� ��	�
� �������

��� �������� �� � ������������ �������
� ������
�� ��
���������� ��
����� ���������� ������
��� ������ �� ������
�
 �� �� ���
���� 
�� �
���! "������ ���� ��	����� #��$��% �������% ������
�� �� ������
 � 
���& '�
�
��������� ����� ���������� ������
��� $�������

��� �
���������� ������
#�$������% ����$�!

(��$��� �������% ������
�� ��& '� ����

��� ��
����� ������
��� ������ � �� 
$
����� #���� �
����)���� *�& ����
����

��� � �����
������� #��$��% �������%
������
�� �� ���
�
���� $�������
��� �
����)���� +�! ,������� #��$
����� �� 
�
�
 �� �������� �$����	����� �������
 �
����
� #��$��� �������% ������
�� #�� 
$
����� ���
�
 �� �
����)���� -� � �������� ��� �����
�
����$��� ������� �������
���� ����
���� $���$��
� ����
���)����! � ������
�
� ��
�������� ��������� ����� 
��)���� �
��� �� �
������ *�& � 
�$�) �
������ �
����
���� ����$������� ��
���$��
��� ���������� �������� ��#���% �
������ +�!

+! ���������� 	�
���

��������	
����
 ��������
�
 �����	������ �.��� �����)��
��� ��	��$���
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S
(m)
N (k + 1) :=

1
N

N∑
r=1

I{δr(k) = em}, 0 ≤ m ≤ M, k ≥ 0. �*�

0�
 I{A}  ����$�
�� ���)��� A!
"������� ����� 	������1

M∑
m=0

S
(m)
N (k) = 1, k ≥ 0. �+�
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ΔS
(m)
N (k + 1) := S

(m)
N (k + 1)− S

(m)
N (k), k ≥ 0, �-�
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C
(m)
0 (p) := E[ΔS

(m)
N (k + 1) |SN (k) = p], 0 ≤ m ≤ M, k ≥ 0. �5�

0�
 SN (k) := (S(m)
N (k), 0 ≤ m ≤ M) 6 ��$
�� �
���� �� �� k �� $����7

ΔSN (k + 1) := SN (k + 1)− SN (k)& k ≥ 0 6 ������
 �
��� �� �� (k + 1) �� $����7
p := (pm, 0 ≤ m ≤M)  ��$
�� �
������ ���
�
 �������� Sm

N (k)& 0 ≤ m ≤M�!
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V = [Vmn, 0 ≤ m, n ≤ M ] = (V m, 0 ≤ m ≤ M) �8�

�� V m  ��$
�� ����$ ��
���� V!
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C0(p) = G(p)1− (M + 1)Vp, G(p) := 1Vp, ���
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G(p) = 1Vp =
M∑

m,n=0

Vmnpn =
M∑

m=0

V mp,

�� V mp � ������
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V mp =
M∑

n=0

Vmnpn, 0 ≤ m ≤ M.
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C
(m)
0 (p) =

M∑
l=0

V lp− (M + 1)V mp.
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C
(m)
0 (p) = −

∑
l �=m

[(V m − V l)p], 0 ≤ m ≤ M. �$�
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1 C0(p) =
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C
(m)
0 (p) = 0. �%�
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C0(ρ) = 0.
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V lρ = V mρ, 0 ≤ l, m ≤M,
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Vρ = C1 �12�
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1Vρ =
M∑

m=0

V mρ = (M + 1) · C, C = 45678. �11�
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V
−1 := [V mn]− 	���
�
� �����!� + �����
���� V mn, 0 ≤ m, n ≤ M,

��� 
�-��
	* �����!� 
�����
�- ��� �"�.
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ρ = (ρm = V m/V , 0 ≤ m ≤M), ����

�
 V m =
∑M

l=0 V ml � 
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�
�
���� ����� ������� V
−1 = [V mn] V =:

∑M
m=0 V m =∑M
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�! 
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���� ������� [V mn]"
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ρ = V
−1C1 = CV
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V
−11 = (V m, 0 ≤ m ≤ M), ����
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ρ = (ρm = CV m, 0 ≤ m ≤ M). ��!�
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M∑
m=1

ρm = 1.
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C

M∑
m=1

V m = 1; C = 1/V . ��&�
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p̂ := p− ρ = (p̂m = pm − ρm, 0 ≤ m ≤M). ��.�
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C0(p) = C0(p̂) = (1Vp̂)1− (M + 1)V mp̂, 0 ≤ m ≤ M, ����

��� �$#�� �$�$4�� �$ $ ��� �
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C0(p̂) =

⎛⎝C
(m)
0 (p̂) =

∑
l �=m

[(V l − V m)p̂ ], 0 ≤ m ≤M

⎞⎠ .


	���
���� �� $������ �
��

�� %����
��� ���������	 &�
��� ���� ����'��
�

%�������(
�����

C0(p̂) = −V̂p̂,

V̂ :=

⎛⎝V̂ m =
∑
l �=m

[V m − V l], 0 ≤ m ≤ M

⎞⎠ .
��7�

)��

V̂ m :=

⎛⎝V̂mn =
∑
l �=m

[Vln − Vmn], 0 ≤ n ≤M

⎞⎠ .

*��

V m := (Vmn, 0 ≤ n ≤ M).
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V = [Vmδmn; 0 ≤ m, n ≤ M ], !)*$

�� δmn + 
����� ,��������(

δmn =

{
1 ��� m = n,

0 ��� m �= n.

������� �	 
���
	 -�&���� ������� ��������& ��� ������	
� ����� �������
����� Vm� m = 1, 2� .�/�
����� � ���� � �������% !"#$(

C
(m)
0 (p̂) = −(Vm − Vl)p̂, l, m = 1, 2, l �= m.

.�0�

C
(1)
0 (p̂) = −V1P̂1 + V2P̂2, C

(2)
0 (p̂) = V1P̂1 − V2P̂2.

-������ �����/���� ��� ���& ��	��������( !1$����
� ��	���������2 !�$���� � ��	�
���������� ,��� �� �� �����/��� V+ := V12 V− := V2�

3��� ������� �� ��
�� �����
��� �������& ��	�������� ����%�	
� �������%

C0(p̂) = −V̂p̂, V̂ =
[

V+ −V−
−V+ V−

]
.

3�� 4�

C+
0 (p̂) = V−P̂− − V+P̂+, C−0 (p̂) = V+P̂+ − V−P̂.

5���������� ������� �� ��
�� �����
��� ������	
� 
��������
����� !")$(

ρ± = V −1
± /V , V := V −1

+ + V −1
− .

3�� 4� ����������� �������& 65 ������	
� 
��������
�����

ρ± = V∓/V, V := V+ + V−.

������� � 
���
	 7� ������
�� ��	�& ����� � 65� ��&���� ������� ��������&
��� !'$ ������	
� ��	��� ����������� Vm� m = 0, 1, 2� 3��� ������� ��������& ����
4� ����� ������% �� ��
�� �����
��� ���������� /�
��� !"#$� ��� �� ���(

V̂ =

⎡⎣2V0 −V1 −V2

−V0 2V1 −V2

−V0 −V1 2V2

⎤⎦ .

3�� 4�

C0(p̂) = −V̂p̂ =
(
C0

0 (p̂), C1
0 (p̂), C2

0 (p̂)
)

=

= (V1P̂1 + V2P̂2 − 2V0P̂0, V0P̂0 + V2P̂2 − 2V1P̂1, V0P̂0 + V1P̂1 − 2V2P̂2),

P̂0 + P̂1 + P̂2 = 0.

7���
� �����
�����	� �������� �����/�� ����
�������� ������� �� ��
�� ������

��� !"#$ � �������� )(

C0(p̂) = −V̂p̂, V̂ := [V̂mn; 0 ≤ m, n ≤ 2],

V̂mn = −Vn, n �= m, V̂mm = 2Vm.

5���������� 65 � �������� ) ��/�
�%��	
� �� ��������� !")$ � !"8$ ���� "(
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ρ =
(
ρ(0), ρ(1), ρ(2)

)
;

ρ(0) = V1V2/(V0V1 + V0V2 + V1V2), ρ(1) = V0V2/(V0V1 + V0V2 + V1V2),

ρ(2) = V0V1/(V0V1 + V0V2 + V1V2); ρ(0) + ρ(1) + ρ(2) = 1.

������� � 	
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��� �
� ���� �
��������� 
 ��������� 	����

����
� Vm� 0 ≤ m ≤M �

������� ��	��
��� �
� ��� ��� ����
� �!"� 
�� �����	��� #�����$

V̂mn =

{
MVm 	�� m = n,

−Vn 	�� m �= n.

%�� ��� ��� �
& ������
& 	������
# �!"� 	����#��'����� �����	��
 (���
$

C
(m)
0 (p̂) = −V̂p̂ = −

∑
l �=m

[(Vm − Vl)]p̂

=
∑
l �=m

VlP̂l −MVmP̂m, 0 ≤ m ≤M.
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��� *��	��������� #�	��#�� 
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C0(p̂) = −V̂p̂, V̂ := [V̂mn; 0 ≤ m, n ≤ M ],

V̂mn =

{
MVm 	�� m = n,

−Vn 	�� m �= n.
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ρ =
(
ρ(0), ρ(1), . . . , ρ(M)

)
: ρ(m) =

∏
l �=m

Vl

/ M∑
l=0

∏
l �=m

Vl, 0 ≤ m ≤ M.
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S
(m)
N (0) P1−−→ ρm, N →∞, 1 ≤ m ≤ M,
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S
(m)
N (k) P1−−→ ρm, N →∞, 1 ≤ m ≤ M, ��!�
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Δμ
(m)
N (k + 1) : = ΔS

(m)
N (k + 1)− E[ΔS

(m)
N (k + 1) |SN (k)]

= S
(m)
N (k + 1)− E[S(m)

N (k + 1) |SN (k)]

= S
(m)
N (k + 1)− C(m)(SN (k)), k ≥ 0.
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C(m)(p) := p + C
(m)
0 (p).
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〈Δμ
(m)
N 〉(k + 1) : = E

[
[S(m)

N (k + 1)− E[S(m)
N (k + 1) |SN (k)]]2 |SN (k)

]
= C(m)(SN (k))[1 − C(m)(SN (k))]/N =: σ2

m(SN (k)).
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ΔM
(m)
N (n) :=

n∑
k=0

Δμ
(m)
N (k + 1), n ≥ 0. ��"�
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〈M (m)
N 〉(n) =

1
N

n∑
k=0

σ2
m(SN (k)), n ≥ 0,

σ2
m(p) := C(m)(p)[1− C(m)(p)].
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〈MN 〉(m)
n

P1−−→ 0, , N →∞, 0 ≤ m ≤M.
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Δμ
(m)
N (n) P1−−→ 0, , N →∞, 0 ≤ m ≤ M.

)������ '�� n = 0 �����

Δμ
(m)
N (0) = S

(m)
N (1)− C(S(m)

N (0)) = S
(m)
N (1)− S

(m)
N (0)− C

(m)
0 (S(m)

N (0)).
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C
(m)
0 (S(m)

N (0)) P1−−→ C
(m)
0 (ρm) = 0, N →∞, 0 ≤ m ≤ M.
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S
(m)
N (1)− ρm

P1−−→ 0, N →∞, 0 ≤ m ≤M.
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N [ΔŜ
(m)
N (k + 1) + VŜ

(m)
N (k)] D−→ σmW (k + 1), N →∞, k ≥ 0 ��.�
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σ2
m := ρm(1− ρm), 0 ≤ m ≤M.
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ΔS̃
(m)
N (k + 1) + VS̃

(m)
N (k) =

σm√
N

W (k + 1), k ≥ 0. ��5�
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E[ΔS̃
(m)
N (k + 1) | S̃N (k)] = −V S̃

(m)
N (k), k ≥ 0.
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ΔM
(m)

N (n) :=
√

NΔM
(m)
N (n) =

√
N

n∑
k=0

Δμ
(m)
N (k + 1), n ≥ 0. ��$�
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〈ΔM
(m)

N 〉(n) =
n∑

k=0

σ2
m(S(m)

N (k)), n ≥ 0. ��*�
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σ2
m(S(m)

N (k)) P1−−→ σ2
m := ρm(1− ρm), N →∞, k ≥ 0.
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〈ΔM
(m)

N 〉(n) P1−−→ (n + 1)σ2
m, N →∞, n ≥ 0. �34�
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